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DR JEKYLL AND MR HYDE

WORKSHEET ANSWER KEY LEVEL 0

1 1 Dr Jekyll S Spring 1883: h
2 London December 1883: d
3 Scientist January 1884: ¢
4 Laboratory October 1884: a
5 Potion December 1884: ¢
6 Mr Hyde 12th January 1885: e
February 1885: b
2a 1 Dr Henry Jekyll March 1885: f
2 Mr Edward Hyde
3 Mr Gabriel Utterson 6 ' Reader’s own answer.
4 Poole
5 Sir Danvers Carew 71 Reader’s own answer.
2b 1 Sir Danvers Carew
2 Poole
3 Mr Edward Hyde
4 Mr Gabriel Utterson
5 Dr Henry Jekyll
3 L C Y
2
D E A H
3
B C M
4
V O C
5
P R M S
6
S C A E
7
S T A G
8
S H O T
9
W R N
10
E \% E R Y N
The mystery word is laboratory.
4 1 murdered
2 short
3 dark
4 London
5 October 1884
6 police
7 hit
8 cane
page 1

Penguin Readers



